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QID:1-1fA=1-10+3-12+5-14+7 + .. upto 60 terms, then what is the value of A?

GREA=1-10+3-12+5-14+7 + .. 60 TSI T &, at A T T &1 &7

Options:

Correct Answer: — 270
Candidate Answer: — 270

QID : 2 - How many natural numbers are there between 1000 to 2000, which when divided by 341 leaves remainder 5?

1000 & 2000 & Heg T forat urepforen Ty €, fog 341 & Ao & IR st 5 &t 82

Options:

Correct Answer: 3
Candidate Answer: 2

QID : 3 - Which of the following statement(s) is/are TRUE?

1. V(64) + v(0.0064) + v(0.81) + v(0.0081) = 9.07
I1. ¥(0.010201) + v(98.01) + v(0.25) = 11.51

fFefafea 8 @ o 9/ sy g 2/8?

I. V(64) + v(0.0064) + v(0.81) + v(0.0081) = 9.07
I1. ¥(0.010201) + v(98.01) + v(0.25) = 11.51

Options:

1) Only |
e |

2) Only Il

Fad I

3) Both I and Il
| T |1 &=t

4) Neither I nor Il
Farlagil

Correct Answer: Only |

had |

Candidate Answer: Only |
e |

QID : 4 - Which of the following statement(s) is/are TRUE?

1. (0.7)2 + (0.07)2+ (11.1)2>123.8
I1. (1.12)2 + (10.3)2 + (1.05)2 > 108.3

Prefafed & @ o q1/8 s g 8/8?

1. (0.7)2 + (0.07)2+ (11.1)2>123.8
I1. (1.12)2 + (10.3)2 + (1.05)2 > 108.3
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Options:
1) Only |
et |

2) Only Il
haet Il

3) Both land Il
| T 11 &=t

4) Neither I nor Il
Farlagil

Correct Answer: Only Il
Fad I

Candidate Answer: Only Il
& I

QID:5-
Which of the following statement(s) is/are
TRUE?
1 1 1 1 12
+ + Fohg=—m— S
13 3%b BT M&13 18
1 1 1 1 12
+ + Frundbre——ii
1x2 2%3 3I%4 12515 18

Fafaf@a & 9 sila T sua g7 722

1 1 1 1 12
+ 3 B S S
1x3 3x5 5T 1Mx13 13
1 1 1 1 12
3 i : TR PR
1x2 " 2%3 x4 12x13 13

Options:
1) Only |
haret |

2) Only Il
Fad Il

3) Both land Il

| o 11 g

4) Neither | nor Il
Farlagi

Correct Answer: Only Il

Shad |l

Candidate Answer: Only Il
e |l

QID : 6 - Which of the following statement(s) is/are TRUE?

1.3/71<5/91<7/99
I1.11/135>12/157 > 13/181

fFfafEa # @ o 9/ s g 2/8?

1.3/71<5/91<7/99
II.11/135>12/157 > 13/181
Options:

1) Only |

et |

2) Only Il
Gad |l

3) Both I and Il
| a7 11 &

4) Neither | nor Il
Fariagi

Correct Answer: Both | and Il
| g2 11 3

Candidate Answer: Neither | nor I

TFariag
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QID:7-1f1+(1/2) +(1/3) + ... + (1/20) = k, then what is the value of (1/4) + (1/6) + (1/8) + ... + (1/40)?

a1+ (1/2) + (1/3) + ..+ (1/20) = k &, ¥ (1/4) + (1/6) + (1/8) + ... + (1/40) &1 9 7 &?

Options:
1) k/2

2) 2k
3) (k- 1)/2

4) (k+1)/2
Correct Answer: (k — 1)/2
Candidate Answer: k/2

QID:8-1fA=2%2B=231+2304+229+ +20°andC=3"5+3"4+313+ _ +3° then which of the following option is TRUE?

gt A=232B=231423040294 4203 C=315+3144313+  +3°F @ FffRad & ol a1 Recu e 22

Options:

1)C>B>A

2)C>A>B

3)A>B>C

4)A>C>B

Correct Answer: C >A>B

Candidate Answer: [ NOT ANSWERED ]

QID:9-If x+y =10 and xy = 4, then what is the value of x* + y*?

g x+y=10aATxy = 4 & A x* + y* w1 A= T R?

Options:
1) 8464

2) 8432
3)7478

4) 6218
Correct Answer: 8432
Candidate Answer: 8432

QID : 10 - M is the largest three digit number which when divided by 6 and 5 leaves remainder 5 and 3 respectively. What will be the remainder when M is divided by
11?

M & aient o gat St e & O, 519 6 e 5 @ fenfSia fakar SiTer & Y Qiuthet shHsn: 5 9T 3 3rar &1 St M @l 11 | RrenfSia forar S @Y Swweet @ ghm?
Options:

1)1

2)2

3)3

44

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 11 - Which of the following statement(s) is/are TRUE?

.v5+v5>v7+V3
I.v6+V7>v8+ V5
. v3+v9>v6+V6

fFefafEa 8 @ o9 9/ s I 8/8?

.V5+V5>v7++v3

I.v6 + V7 >v8+ V5
. v3+vV9>v6+ V6
Options:

1) Only |

haet |

2) Only land Il
Shaet | qu I

3) Only Il and Il
had [l ar il

4) Only I and Il
Shaet | qT il

Correct Answer: Only | and Il

hadt | FT I
Candidate Answer: [ NOT ANSWERED ]|
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V342
Ifa:m and b:m,

what is the value of a2 + b2 — ab?

QiD:12-

V3443

then

afy a= Y2 V2 gy p V32

V32 V3+42

ar a2+ b?—ab T AT 4T &7

Options:

1)97

2) (2v3) +2

3) (4v6) + 1

4) 98

Correct Answer: 97
Candidate Answer: 97

QID : 13 - If the difference between the roots of the equation Ax? - Bx + C = 0 is 4, then which of the following is TRUE?

afe THichRor AX? - Bx + C = 0 & Heil o iR 4 &, @ Fmfefa d d e sr e &2
Options:

1) B2 - 16AZ = 4AC + 4B2

2) B2 - 10A2 = 4AC + 6A2

3) B2 - 8AZ = 4AC + 10A2

4) B2 - 16A2 = 4AC + 8B2

Correct Answer: BZ — 10AZ = 4AC + 6A2

Candidate Answer: [ NOT ANSWERED ]

QID : 14 - a and B are the roots of quadratic equation. If a + B = 8 and a— B = 2v5, then which of the following equation will have roots a* and p*?

a a1 B fZurd gfieur & g €1 afe a + B = 8 dUTa — B = 2v5 &, dt o qur p* Fefafed & & forg geftewor & oot €2
Options:

1) x2 - 1522x + 14641 =0

2) x2+1921x + 14641 =0

3) x2- 1764x + 14641 =0

4) X2+ 2520x + 14641 = 0

Correct Answer: xZ — 1522x + 14641 = 0
Candidate Answer: [ NOT ANSWERED |

QID : 15- If a and b are the roots of the equation PxZ — Qx + R = 0, then what is the value of (1/a2) + (1/b2) + (a/b) + (b/a)?

I a T b TR0 Px? - Qx + R =0 & geA &, @ (1/a2) + (1/b2) + (a/b) + (b/a) &1 &1 T §?
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Options:
1

(Q*-2P)(2R+P)

PR’
2
(@ -2PR)(R+P)
PR?
3)
(@ -2R)(2P +R)
PERQ
4)
(@ -2PR)(2R+2P)
P2R2
Correct Answer:
(@ -2PR)(R+P)
PR?

Candidate Answer: [ NOT ANSWERED |

QID: 16 - If X2 - 16x — 59 = 0, then what is the value of (x — 6)Z + [1/(x - 6)7]?

TR x2 - 16x - 59 = 08, @ (x - 6)2 + [1/(x — 6)2] & A =T &?
Options:

Correct Answer: 18
Candidate Answer: 14

QID : 17 - If A and B are the roots of the equation Ax? — A2 + AB = 0, then what is the value of A and B respectively?

g A o1 B Gefietor Ax2 — A2x + AB = 0 & Tl &, ot ShHST: A T B &l H1F a1 82

Options:
11,0

2)1,1
3)0,2

4)0,1
Correct Answer: 1,0
Candidate Answer: [ NOT ANSWERED ]

QID:18-

a and B are the roots of the quadratic equation x2 - x - 1 = 0.
What is the value of a8 + p8?

adur B fgaaafierurx? - x - 1=0Fga ¢! a8 + e T AM M
27
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Options:
1) 47
2) 54
3)59
4)68
Correct Answer: 47
Candidate Answer: 47

QID:19-Ifa+b+c=9,ab+bc+ca=26a3+b3=91,b3+c3=72and c3 + a3 = 35, then what is the value of abc?

aa+b+c=9ab+bc+ca=26a3+b3=91,0b3+c3=72aurcd+a3=358 dtabc w1 A FTE?
Options:

1) 48

2) 24

3)36

4) 42
Correct Answer: 24
Candidate Answer: 24

QID: 20 - If x3 - 4x2 + 19 = 6(x — 1), then what is the value of [x2 + (1/x - 4)]?

T x3 - 4x2 +19 = 6(x — 1) &, a1 [x2 + (1/x — 4)] 1 7 =1 &2
Options:

1)3

2)5

3)6

4)8
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]|

QID : 21 - Cost of 8 pencils, 5 pens and 3 erasers is Rs 111. Cost of 9 pencils, 6 pens and 5 erasers is Rs 130. Cost of 16 pencils, 11 pens and 3 erasers is Rs 221.
What is the cost (in Rs) of 39 pencils, 26 pens and 13 erasers?

8 Ui, 5 et JUT 3 39S A e 111 F &1 9 U, 6 hetd 9T 5 39S &1 Ged 130 T &1 16 TR, 11 e a1 3 &S &1 Hed 221 F &1 39 Ui, 26 e a7 13 39S &l JeJ (3 H)
T E?

Options:
1) 316
2) 546
3) 624
4) 482

Correct Answer: 546
Candidate Answer: [ NOT ANSWERED ]|

QID:22-If 2x+ 3y - 52=18,3x+ 2y +z =29 and x + y + 3z = 17, then what is the value of xy + yz + zx?

fe 2x + 3y — 52 =18,3x + 2y + 2= 29 qUTX +y +3z= 17 & A Xy + yz + zX &1 T T &?
Options:

1)32

2) 52

3) 64

4) 46
Correct Answer: 52
Candidate Answer: [ NOT ANSWERED ]

QID : 23 - PQR is an equilateral triangle whose side is 10 cm. What is the value (in cm) of the inradius of triangle PQR?

PQR T& g9aTg et & foraeht ofar 10 @+ 81 eyt PQR & sia:Bean ar o (.41, 7) = @2

Options:

1) 5/v3

2) 10v3

3)10/v3

4) 5v2

Correct Answer: 5/v3
Candidate Answer: 5/v3
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QID : 24 - What is the area (in cmz) of the circumcircle of a triangle whose sides are 6 cm, 8 cm and 10 cm respectively?

Tk oot ForrehY ooy shwrsr: 6 .71, 8 T+, @ 10 9.1, &, 3 uRqw o1 &ather (§.+0.2 8) T 82

Options:
1) 275/7
2) 550/7
3) 2200/7
4)1100/7

Correct Answer: 550/7
Candidate Answer: 550/7

QID:25-
In the given figure, MNOP is a parallelogram.
PM is extended to Z. OZ intersects MN and
PN at Y and X respectively. If OX = 27 cm and
XY = 18 cm, then what is the length (in cm) of
YZ?

& o T A, MNOP T FAIGR aget
g1 PM & Z G SoTaT 9= g1 0Z, MN a=r
PN & &H: Y 94T X W Uia=oe #dar gl
afe OX =27 @& gur Xy =18 @ & ar
YZ &t gFars (T &) Fm g2

Z
M—Y— N
P O
Options:
1)21.4
2)22.5
3) 23.8
4) 24.5

Correct Answer: 22.5
Candidate Answer: 22.5

QID : 26 - ABCD is a trapezium in which AB is parallel to CD and AB = 4(CD). The diagonals of the trapezium intersects at O. What is the ratio of area of triangle DCO
to the area of the triangle ABO?

ABCD Ueh 9 ¢ fS AB, CD & GHiaR & 4T AB = 4(CD) 81 Twerl o fenvf O W ufcreder &hed &1 st DCO & &thet &t RISt ABO & &15thel & RIT 31JUTd 672
Options:

Correct Answer: 1:16
Candidate Answer: 1:16
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QID: 27 -

In the given figure, ABC is an equilateral
triangle. Two circles of radius 4 cm and12
cm are inscribed in the triangle. What is the
side (in cm) of an equilateral triangle?

& 915 3epfd #, ABC T HHSIUT e
g1 4 A U128 B g & dcd
B & sifha 81 @apIoT Brere & s
&7 #7) Fa7 82

Options:

1) 32/¥3

2) 32v3

3) 64/v3

4) 64v2

Correct Answer: [ No Correct Answer ]

Candidate Answer: 32v3
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QID: 28 -

In the given figure, SXis tangent. SX = OX =
OR. If QX =3 cm and PQ = 9 cm, then what
is the value (in cm) of OS?

&r a1 i A, SX UH T [@M gl SX =
OX=0R & I Q=3 & g PQ=9
q.#dT. & ar 0S &1 A (W.H. #) Fa7 §7

P

Options:

16

2)5

3)4

4)3

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 29 - PAB and PCD are two secants to a circle. If PA =10 ¢m, AB =12 cm and PC = 11 cm, then what is the value (in cm) of PD?

PAB a1 PCD Teh g1 TR &I 8e @14 &1 afg PA = 10 §. #t,, AB= 12 8. #. a1 PC = 11 §. =Y. g, at PD &1 7 (&, . #) R &2

Options:

1)18

2)9

3) 20

4)12

Correct Answer: 20
Candidate Answer: 20

QID : 30 - Triangle PQR is inscribed in a circle such that P Q and R lie on the circumference. If PQ is the diameter of the circle and 2PQR = 40°, then what is the value
(in degrees) of 2QPR?

Teh g1 H AT PQR 39 WaR Sifchd & fh P Q @ R uRfY o fR¥a 81 i PQ g7 o1 19 & 9T £PQR = 40° 8, oY QPR &1 7 (fS1ft #) w2

Options:

Correct Answer: 50
Candidate Answer: 50
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QID:31-

In the given figure, L QRU = 72°, Z/TRS =
15° and /PSR = 95°, then what is the
value (in degrees) of ZPQR?

& 9% 3Mepid H, LQRU = 72°, ZTRS =
15° daT /PSR = 95° g, a ZPQR T
At (330 /) Far 82

Options:
1) 85

2)95
3)75
4) 90

Correct Answer: 95
Candidate Answer: 85

QID : 32 - What can be the maximum number of common tangent which can be drawn to two non-intersecting circles?

T TR-ufredd! gt @ stftrena frart srgeast 3ar Hif o endt &2

Options:

Correct Answer: 4
Candidate Answer: 4

QID : 33 - Triangle PQR is inscribed in the circle whose radius is 14 cm. If PQ is the diameter of the circle and PR = 10 cm, then what is the area of the triangle PQR?

ST PQR g foraeht st 14 @41, 8, # sifed 81 af PQ g<1 o1 e & @2 PR = 10 /.#1. &, & 1S PQR 7 &51thet RI1 87
Options:

1) 196

2) 30v19

3) 40v17

4) 35v21

Correct Answer: 30v19

Candidate Answer: 30v19

QID : 34- PQR is a right angled triangle in which PQ = QR. If the hypotenuse of the triangle is 20 cm, then what is the area (in cm?) of the triangle PQR?
PQR Ter Tmantor FRye & fored PQ = QR &1 af Riegst o1 avof 20 .41, &, at 9T PQR o1 o et (3712 ) & ar 22

Options:
1) 100v2
2) 100
3) 50v2
4) 50

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In
Correct Answer: 100
Candidate Answer: 100

QID : 35- PQRS is a square whose side is 20 cm. By joining opposite vertices of PQRS are get four triangles. What is the sum of the perimeters of the four triangles?

PQRS Qe af & fSrerehr oo 20 9.1, &1 PQRS & fawdia <fiwt &t fierm R aR Biget ot gt €1 9wt Bt & afmmdt & i am 82

Options:
1) 40v2
2) 80v2 + 80
3) 40v2 + 40
4) 40v2 + 80

Correct Answer: 80v2 + 80
Candidate Answer: 40v2 + 80

QID : 36 - If ABCDEF is a regular hexagon, then what is the value (in degrees) of ~ADB?

gf& ABCDEF U& & W3S &, df 2ADB &1 A (fetft #) arm &2
Options:

1)15

2) 30

3) 45

4) 60

Correct Answer: 30

Candidate Answer: 30

QID : 37 - ABCD is square and CDE is an equilateral triangle outside the square. What is the value (in degrees) of zBEC?

ABCD Ue aif & JuT CDE &rf & aTgR Yes awaing st 81 2BEC &1 71 (fft #) ran &2
Options:

Correct Answer: 15
Candidate Answer: 30

QID : 38 - There is a circular garden of radius 21 metres. A path of width 3.5 metres is constructed just outside the garden. What is the area (in metresz) of the path?
21 Hiex BieaT a1t Yeh geiTehR e &1 Ie ek a1eR 3.5 Hiex dieré aret Ueh ur eht fAwfor fohar mam 81 uer ot ket (dftez? #) o 82

Options:
1) 50.05
2) 57.56
3)52.12
4) 56.07
Correct Answer: [ No Correct Answer ]

Candidate Answer: 50.05
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QID:39-

In the given figure, PQRS is a square whose
side is 8 cm. PQS and QPR are two
guadrants. A circle is placed touching both the
guadrants and the square as shown in the
figure. What is the area (in cm?) of the circle?

& 1 IHfd A, PORS wH T § fawdH
qoT 8 AL ¥ PQS I QPR Fed & @l
a9 AT §l UF ged, Ged & Gl Ogy
AEI JUT g9 H T & @I g oo R
FHfT H gURT T El god W SRS

(FHr2 #/) F3r 8°
S R
P Q

Options:

1)13/17

2)11/14

3) 19/31

4) 15/19

Correct Answer: 11/14
Candidate Answer: [ NOT ANSWERED ]|

QID : 40 - The base of a prism is in the shape of an equilateral triangle. If the perimeter of the base is 18 cm and the height of the prism is 20 cm, then what is the
volume (in cm3) of the prism?

Tk fOrsH T STy TwaTg gt & ek & &1 afe seR Y oRfy 18 A.#1. & den firew Y F=d 20 .4, 2, At frew ot simgaw (S.+41.8 #) w82

Options:

1) 60v3

2) 30v6

3) 60v2

4) 1203

Correct Answer: [ No Correct Answer ]

Candidate Answer: [ NOT ANSWERED ]

QID : 41 - The height of a cone is 24 cm and the area of the base is 154 cm2. What is the curved surface area (in cm?) of the cone?
Teh 27 Y e 24 .. & T SNER BT ket 154 F.HL2 1 2 & ok GEIT &vhet (.12 F) 1 82

Options:

1) 484

2) 550

3) 525

4)515

Correct Answer: 550
Candidate Answer: 550

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In
QID : 42 - A right circular solid cylinder has radius of base 7 cm and height is 28 cm. It is melted to form a cuboid such that the ratio of its side is 2 : 3: 6. What is the
total surface area (in cm?2) cuboid?

Ueh G IR 319 S oh STTYR el Brear 7 .48, Jur $arg 28 9.7, &1 8 FIacient Ueh 99T §9 UehR ST ST & foh I¥Teh ST &1 S1guTd 2 : 3 : 6 § 1 BT &l il 81T &5thel
@A 2H) Fd?
Options:

1)
,12156

2)

3)
2148
3

4
2048

B —

3

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]

QID : 43 - Aright circular cylinder is formed. A = sum of total surface area and the area of the two bases. B = the curved surface area of this cylinder. f A:B=3:2
and the volume of cylinder is 4312 cmS, then what is the sum of area (in cm?2) of the two bases of this cylinder?

Toh TH IR S STaT STl 81 A = e GEIT SisTthet <hT 1T 2T &Y SMTeN=Y <hT &thel | B = T S ol sk EIT &thet| af& A B = 3 : 2 T 3o o1 aa 4312 .3 8, drgm
et & gl S & ket (§.70).2 &) o1 o AT T 2
Options:

Correct Answer: 308
Candidate Answer: [ NOT ANSWERED ]

QID : 44 - A solid sphere has a radius 21 cm. It is melted to form a cube. 20% material is wasted in this process. The cube is melted to form hemisphere. In this
process 20% material is wasted. The hemisphere is melted to form two spheres of equal radius. 20% material was also wasted in this process. What is the radius (in
cm) of each new sphere?

T 319 Tt it Brear 21 3., 1 38 FueimeR T w1 s=man Siar & | 59 ufshar # 20% arft s gt St 81 o ol foreretienR Ten siefie s=man siar &1 59 ufshar & 20% arft aef gt
ST 1 Srefiet ot flrarcmens &t Ia e aret & et - ST €1 59 ufehar & oft 20% areft oft aref g1 1 oft 1 vdes =g ik < s (3.4 7) @ @2

Options:

2(4)
21(4)
3)2.1(i/1 )
411.2(%/1)

Candidate Answer: [ NOT ANSWERED ]
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QID : 45 - A solid hemisphere has radius 14 cm. It is melted to form a cylinder such that the ratio of its curved surface area and total surface area is 2 : 3. What is the
radius (in cm) of its base?

e 319 et <l fream 14 3.7t 31 59 Reeiem To e 39 UehR ST ST & foh 3990 ash Y Sthel 9T el JEIT &15thel ol 1guTd 2 © 3 &1 39 STuR <t frwar (@4, #) &

21

Correct Answer:

s

3/5

Candidate Answer:

3
QID : 46 - A cuboid has dimensions 8 cm x 10 cm x 12 cm. It is cut into small cubes of side 2 cm. What is the percentage increase in the total surface area?

Qe O ol 3T 8 AT x 10 B x 12 4. 81 59 2 .+t 9[oT aret B =1 H et ST 81 Hel YBIT &15thet # fehes Hfaerd 61 gfg 85 87

Options:
1) 286.2
2) 314.32
3) 250.64
4) 386.5

Correct Answer: 386.5
Candidate Answer: 386.5

QID : 47 - A pyramid has a square base. The side of square is 12 cm and height of pyramid is 21 cm. The pyramid is cut into 3 parts by 2 cuts parallel to its base. The
cuts are at height of 7 cm and 14 cm respectively from the base. What is the difference (in cm3) in the volume of top most and bottom most part?

o fORIFAE o SMTYR Ues af &1 &t At ofar 12 F.#. aor foRifire <t Sag 21 S+t €1 foRifore ont I9ch SR & §HiaR 2 wheral 9§ 3 WRT & ehrel SITdT 8| held STUR § shuer: 7 9.t
U 14 4., & A W 2| G SR qUT T A & W & ATFAT b iR (.43 F) Fn g2

Options:

1) 872

2) 944

3) 786

4)918

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]

QID : 48 - What is the value of {(sin 4x + sin 4y) [(tan 2x — 2y)]}/(sin 4x - sin 4y)?

{(sin 4x + sin 4y) [(tan 2x — 2y)]}/(sin 4x — sin 4y) 3T A9 X1 §?
Options:

1) tan 2 (2x + 2y)

2) tan?

3) cot (x - y)

4) tan (2x + 2y)

Correct Answer: tan (2x + 2y)

Candidate Answer: [ NOT ANSWERED ]
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QID : 49 - What is the value of (32 cos® x — 48 cos* x + 18 cos2 x — 1)/[4 sin x cos x sin (60 - x) cos (60 - x) sin (60 + X) cos (60 + x)]?

(32 cos® x - 48 cos? x + 18 cos? x - 1)/[4 sin x cos x sin (60 — x) cos (60 - x) sin (60 + x) cos (60 + x)] &1 A =T &?

Options:

1) 4 tan 6x
2) 4 cot 6x
3) 8 cot 6x
4) 8 tan 6x

Correct Answer: 8 cot 6x
Candidate Answer: [ NOT ANSWERED ]

QID : 50 - What is the value of [2 cot x (p — A)/2]/[1 +tan? x (2p - A)/2]?

[2 cot x (p — A)/2)/[1 +tan? x (2p — A)/2] 1 &1 &1 &2
Options:

1) 2 sin2 A2

2)cos A

3)sin A

4) 2 cos2 A/2

Correct Answer: sin A

Candidate Answer: [ NOT ANSWERED ]

QID : 51 -If tan 6 + sec 8 = (x — 2)/(x + 2), then what is the value of cos 6?

afg tan 6 + sec B = (x — 2)/(x + 2) &, dt cos 6 T A FT&?
Options:

1) (X2 - 1)/(Z+1)

2) (2x2 - 4)/(2x% + 4)

3) (x2 - 4)/(x>+ 4)

4) (x2 -2)/(x2+2)

Correct Answer: (x2 - 4)/(x2 + 4)

Candidate Answer: (x2 - 4)/(x2 + 4)

QID : 52 - What is the value of (cos 40° — cos 140°)/(sin 80° + sin 20°)?

(cos 40° — cos 140°)/(sin 80° + sin 20°) &1 T HIT &?

Options:

1) 2v3

2) 2/v3

3)1/v3

4) V3

Correct Answer: 2/v3

Candidate Answer: [ NOT ANSWERED ]|

QID : 53 - What is the value of [1 — tan (90 — 8) + sec (90 - 6)]/[tan (90 - 8) + sec (90 - 8) + 1]?

[1 - tan (90 - 6) + sec (90 - 8))/[tan (90 - 6) +sec (90 — B) + 1] T A T &?

Options:
1) cot (6/2)

2) tan (8/2)
3)sin®

4) cos 6
Correct Answer: tan (6/2)
Candidate Answer: [ NOT ANSWERED ]|

QID : 54 - What is the value of [sin (90 — A) + cos (180 — 2A)]/[cos (90 — 2A) + sin (180 - A)]?

[sin (90 — A) + cos (180 — 2A))/[cos (90 — 2A) + sin (180 — A)] T 719 &1 &?

Options:
1) sin (A/2) cos A

2) cot (A/2)
3) tan (A/2)

4) sin A cos (A/2)
Correct Answer: tan (A/2)
Candidate Answer: [ NOT ANSWERED ]
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QID : 55 - The distance between the tops of two building 38 metres and 58 metres high is 52 metres. What will be the distance (in metres) between two buildings?

T 3AR 38 Hiex a 58 wex =i §, 3 <fiwt & Aea gt 52 Hiex 81 T FARA! & Hew i gt (Hiex #) @ ghft?
Options:

1) 46

2) 42

3)44

4) 48

Correct Answer: 48

Candidate Answer: 48

QID : 56 - The angles of elevation of the top of a tree 220 meters high from two points lie on the same plane are 30° and 45°. What is the distance (in metres) between
the two points?

220 Hiex S Toh g&7 o a farg 3Tl ol 91 df TR S7T4 hivr 30° AT 45° 81 3 forgstt & Aeg g (i #) T 82

Options:

1) 193.22
2) 144.04
3)176.12
4) 161.05

Correct Answer: 161.05
Candidate Answer: 144.04

QID : 57 - The angles of elevation of the top of a tower 72 metre high from the top and bottom of a building are 30° and 60° respectively. What is the height (in metres)
of building?

72 ez $2 g HHR & 2fif 1 3R & FIR FAT AR D IFT V0T hELN: 30° AT 60° § 1 FHRA H FaTS (Hrex F) A w82
Options:

Correct Answer: 48
Candidate Answer: 48
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QID : 58 -

The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig arfersT A g e gar «if3dr fir afew
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_hynsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

What is the difference between the number of students who were present in Physics and Biology examination from school N?

frermera N & «fifarehT qen Sfia famm 6 uden & Iufeq fenftat $i der & @ sfar 82

Options:
1) 21150

2) 14352
3) 22594

4) 24250
Correct Answer: 22594
Candidate Answer: [ NOT ANSWERED |
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QID: 59 -

The table given below shows the number of students

who were absent and percentage of students who

were present in the given two examinations from five

different schools. The table also shows the

percentage of students who were present in the

Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig arfersT A g e gar «if3dr fir afew
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_hynsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

Number of students who were present in Physics examination from school M is what percent of number of students who were absent from school M, L and 0?

e M & sfifadht &t adven & Sufed fentfal & I, e M, L aum 0 € Srqufedd faenffat dr e o forae ufdera 82

Options:

1) 22.48

2)29.28

3)9.09

4)13.4

Correct Answer: [ No Correct Answer ]

Candidate Answer: [ NOT ANSWERED ]
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QID: 60 -

The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig arfersT A g e gar «if3dr fir afew
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_hynsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

What is the average of the number of the students who were present in Physics examination from school N, K and L?

faemmera N, K ar L & «fifadht &t udten & Iufeda fQenffat & e o1 sitwa i &2

Options:
1) 109635

2) 84632
3) 74365

4) 67894
Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED |
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QID: 61-

The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig arfersT A g e gar «if3dr fir afew
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_hynsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

What are the total number of students who were present in the Biology examination from all the schools together?

gt et @ fireTren Sfia R & alen 7 fenffa &t et deean e 82

Options:
1) 193462

2) 249048
3) 326438

4) 211738
Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED |
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QID: 62 -

The table given below shows the number of students

who were absent and percentage of students who

were present in the given two examinations from five

different schools. The table also shows the

percentage of students who were present in the

Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig arfersT A g e gar «if3dr fir afew
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_Iwnsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

If the number of students who were present in the Physics examination from school A is 250% of the difference of the number of the students who were present in
Physics and Biology examination, from school K, then what is the ratio of the number of students who were present from school L to number of students who were
present in Physics examination from school A?

I faemera A @ o g &l oten & faenffa i e, e K & «ifae famm aur Ste famm & wden & Sufeda fenffal i g & 9 a1 siar 250% 8, f fermera L & gt
S faenffat & dwer o e A @ vifaes fasm & when  IufRd ga s & d@ 4 a1 Srgurd 87

Options:

1) 5079 : 4631

2) 1692 : 1547

3) 1547 : 4631

4) 1692 : 2345

Correct Answer: 1692 : 1547

Candidate Answer: [ NOT ANSWERED ]

QID : 63 - A jar contains a blend of a fruit juice and water in the ratio 5 : x. When 1 litre of water is added to 4 litres of the blend the ratio of fruit juice to water becomes
1:1. What is the value of x?

Teh SR § Wt T 39 SR Ut o fRrsror war  foraent orqurd 5 - x &1 579 4 effex & fisror & 1 oftex ur=ht freman stran & ot et & <9 SfiR urft &7 Srqurd 1: 1 8 SIraT &1 x 1 A T 82
Options:

1)3

2)1

3)2

44

Correct Answer: 3

Candidate Answer: 3

QID : 64 - An alloy contains copper and tin in the ratio 3 : 2. If 250 gm of copper is added to this alloy then the copper in it becomes double the quantity of tin in it.
What is the amount (in gm) of tin in the alloy?

Ten sy arg # I SR et o1 srguTa 3 @ 2 81 afe 39 frey ang & 250 T afen e o o & ot 599 Ul dien s Iufedd fe &Y 7 ot SR 8t ST 81 59 s erg # fem
fora=tt {m (I ) # 87

Options:

1) 250

2) 750

3) 1000

4) 500

Correct Answer: 500
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Candidate Answer: 500

QID : 65 - A starts a cement trading business by investing Rs 5 lakhs. After 2 months, B joins the business by investing Rs 10 lakhs and then 4 months after B joined C
too joins them by investing Rs 20 lakhs. 1 year after A started the business they make Rs 3,50,000 in profit. What is B's share of the profit (in Rs)?

A, 5 g IUg ol A3 Feh AT SATIR 1 HaE TR el &1 2 AglA] 916 10 ARE $0i T (a2 veh B oft SATUR & S S11a1 & I B o STUR 9 S84 o 4 #eiH1 o1& C #ff 20
ARG T} o1 LT Shech ATUR T TS ST &1 A & STUR TR &he & 1 98 U 3-8 AR H 3,50,000 FU3T &1 A1 g1 81 1 § B a7 fgen e (wut 7) 82

Options:
1) 75000
2) 1,25,000
3) 1,50,000

4) 1,00,000
Correct Answer: 1,25,000
Candidate Answer: 1,25,000

QID: 66 - A, B and C invest in a business in the ratio 3 : 6 : 5. A and C are working partners. Only B is a sleeping partner hence his share will be 3/4th of what it would
have been if he were a working partner. If they make Rs 50,000 profit, half of which is reinvested in the business and the other half is distributed between the partners,
then how much does C get (in Rs)?

A, BauT C freft aamar & 3 : 6 : 5 & argura & fAdr axd §1 A 71 C i urdR (wfeha mfier) &1 aRiifer B wfifthn urér & ora: Suen fgwam 39 fow® a1 3/4 g it 39a afdh uidR
B W gaTl 3fg 3¢ 50,000 TG T A1 gl & Fored & anel i3 ol g: amurR & Ader a o Sirar & ofk ardht & one i3l uréa=t g e foran s & & C ot foham (Foai 5)
fAem?

Options:

1) 20000

2) 6000

3) 10000

4) 9000

Correct Answer: 10000
Candidate Answer: [ NOT ANSWERED |

QID : 67 - A can do a work in 21 days and B in 42 days. If they work on it together for 7 days, then what fraction of work is left?

AP 21 A & o= opar & SR B 38 42 RA A s Gara1 31 afe § 7 R U w1y o ot € Y ot ot Tkt TR savm?
Options:

1)1/3

2)1/4

3)2/3

4)1/2
Correct Answer: 1/2
Candidate Answer: 1/2

QID : 68 - A can paint a house in 55 days and B can do it in 66 days. Along with C, they did the job in 12 days only. Then, C alone can do the job in how many days?

A foreht eR ot 55 At & O e kT & 9k B 38 66 feT & o Wehat 81 C & a1 fiieion 3 59 o &t 12 7 & g ae Tend! €1 dt C 31kl 399 o Y fovaat ot & apemr?
Options:

1) 24

2) 44

3)33

4) 20
Correct Answer: 20
Candidate Answer: 20

QID : 69 - A, B and C together can finish a task in 12 days. A is twice as productive as B and C alone can do the task in 36 days. In how many days can A and B do the
task if C goes on leave?

A, B T C foreft & ol gan w1y 12 e & T@er o & €1 B Y g J A &) AT S1fves IeuTe ahvat € SR C Srahel 9 i aht 36 faT B o Tehar 81 afE C T WR Ie STrar & ot A 8k
B fAetenR 39 & ot fohamt fe & e A2

Options:

1) 10

2) 20

3)15

4)18

Correct Answer: 18

Candidate Answer: 18
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QID : 70 - A, B and C can together do a job in 9 days. C alone can do the job in 36 days. In how many days can A and B do 50% of the job working together?

A, BT C et s &t 9 Rl qr e @ €1 C 31chelT 39 1A i 36 ol A o 1T 81 A T B Ueh I1Y &1 &l §Y 50% 1 e et A e @ivl?
Options:

16

2)12

3)9

4)15
Correct Answer: 6
Candidate Answer: 6

QID : 71 - Giving two successive discounts of 25% is equal to giving one discount of %.

25% & &l AR Te ___% P Teh P & aRIeR gt &1
Options:

1) 43.75

2) 56.25

3)50

4) 45
Correct Answer: 43.75
Candidate Answer: 43.75

QID : 72 - If a watch is being sold at Rs 7,225 which is marked at Rs 8,500, then what is the discount (in %) at which the watch is being sold?

Ife g ul et sifthd da 8,500 T4 & 7,225 Fudl | st St & df g8t | et e (% H) & mi?
Options:

1)24

2)15

3) 25

4) 20
Correct Answer: 15
Candidate Answer: 15

QID : 73 - On a machine there is 10% trade discount on the marked price of Rs 2,50,000. But the machine is sold at Rs 2,16,000 after giving a cash discount. How
much is this cash discount (in %)?

Te AfA Fore wR Sifdhd i 2,50,000 F92 8 TR 10% BE & STt 8| UReg Aeha Qe anf o o1& AfA 2,16,000 Tl & st STl 81 Fera e (% #) fhat off?

Options:

15

2)4

3)6

47

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 74 - A trader marks up his goods by 120% and offers 30% discount. What will be the selling price (in Rs) if the cost price is Rs 750?

T SATARY S0 ag it TR Jed 120% & Sela fRfd vl & 3R 30% e &l g a1 §1 i AFTd Jed 750 F9 &t f frsha e (39t #) @/ gim?

Options:
1) 1225
2) 1080
3) 1280
4)1155

Correct Answer: 1155
Candidate Answer: 1155

QID : 75 - Sanjay's test marks in two subjects, English and Hindi are in the ratio 7 : 11. If he got 20 marks more in Hindi than in English, what are his marks in English?
3 fowat SR Sk 8t o ot & <o o Sicl o1 SrgUTd 7: 11 81 afe silsit i g 7 & fd 7 20 sier s1fde fAerd €, ot Sieh 7 & fohan sies fer?

Options:

1) 35

2) 55

3) 45

4) 65
Correct Answer: 35
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Candidate Answer: 35
QID : 76 - The ratio of present ages of Simi and Seema is 5 : 4. After 9 years the ratio of their ages will be 8 : 7. What is Simi's present age (in years)?

ft ofk T <t adiaTT g T SIIUTA 50 4§19 T aTe IR S T SiguTd 8 : 7 g S| Rt it g ey R @ (awt H)?

Options:
1)12

2)15

3)24

4) 21

Correct Answer: 15
Candidate Answer: 15

QID : 77 - Find the third proportional to 6 and 12.

6 AT 12 T AERT STl @isi|

Options:
1)18

2)9
3)24

4)15
Correct Answer: 24
Candidate Answer: 24

QID : 78 - According to the will the wealth of Rs 21,25,000 was to be divided between the son and the daughter in the ratio 7/6 : 5/3. How much did the son get (in
Rs)?

TEfiad & SIUR 21,25,000 Fudl & Tufxy & g SR goft 7 7/6 : 5/3 & Srgurd | dier AT G Gl fohae few (3wt ) fer?

Options:
1) 875000

2) 12,50,000
3) 10,00,000

4) 11,25,000

Correct Answer: 875000

Candidate Answer: 875000

QID : 79 - If Rs 25,000 is to be divided between A, B and C in the ratio 1/10: 1/6 : 1/15, then how much will C get (in Rs)?

& 25,000 393 AT A, BIATCH 1/10: 1/6 :1/15 & S0 H aier STY at C &l & (Fuat #) fem?

Options:
1) 5000

2) 7500
3) 10000

4) 12500
Correct Answer: 5000
Candidate Answer: 5000

QID : 80 - Rizwan has a box in which he kept red and blue marbles. The red marbles and blue marbles were in the ratio 5 : 4. After he lost 5 red marbles the ratio
became 10 : 9. How many marbles does he have now?

Rt 3 ger 9t § et ofR et i Y iferat Tt €1 ot q et miferat 5 : 4 & srgura 8 &1 5 @ret Mierat @ S & a1 SIuTd 10 : 9 Bt STTaT 81 36k U 31 foha miferat sft
&

Options:

Correct Answer: 76
Candidate Answer: 76

QID : 81 - The average weight of L, M and N is 93 kg. If the average weight of L and M be 89 kg and that of M and N be 96.5 kg, then the weight (in kg) of M is

L, M T N o7 3f9a asr 93 fh.am. 81 afg L ik M o1 3frd awr= 89 fah.um. 3R M 2 N &1 3t vt 96.5 foh.am. @ St Mt s k.o, ghmi
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Options:
1) 92
2) 86
3) 101
4)95
Correct Answer: 92
Candidate Answer: 92

QID : 82 - Mahesh buys 3 shirts at an average price of Rs 1250. If he buys 2 more shirts at an average price of Rs 1450 what will be the average price (in Rs) of all the
5 shirts he buys?

TR 1250 TT & SHEd g @ i 1€ @liear o1 s a8 1450 F0T o Sfied e I & 3R € @iear 8 o @lie g weft uiet ref o sfited e (Iuat #) o ghm?

Options:
1) 1370
2) 1330
3) 1310
4) 1390

Correct Answer: 1330
Candidate Answer: 1330

QID : 83 - In a one day match of 50 overs in an innings the Team A had a run rate of 6.1 runs per over. Team B is playing and 10 overs are left and the required run rate
to tie the match is 6.5 per over. What is Team B's score now?

50 3R & Uah eaeia & & &9 A 3 T U & ufd 8fiaR 6.1 1 R T 39 9911 &9 B BT @1 & 3R 10 3iar 99 & 91 8 ot a18 814 & oIy 31masgeh 3 3¢ 6.5 Ufd siiaR &1 &9 B &t
@R afy 82

Options:

Correct Answer: 240
Candidate Answer: 240

QID : 84 - Average of all even numbers between 222 and 250 is

222 3R 250 & g i gft g9 Gemei wreftwa &1

Options:
1) 234

2) 232
3) 236

4) 230
Correct Answer: 236
Candidate Answer: 236

QID : 85 - A vendor buys bananas at 7 for Rs 6 and sells at 6 for Rs 7. What will be the result?

ek fachar 6 98 8 7 it WedT & 3R 7 Fud § 6 chet s & | 3R URUTH 1 ghmm?
Options:

1) 36.1% loss

36.1% g1

2) 26.5% profit

26.5% 9

3) 36.1% profit

36.1% @19

4) 26.5% loss

26.5% gIf

Correct Answer: 36.1% profit
36.1% 9

Candidate Answer: 36.1% profit
36.1% 9

QID : 86 - A miner sells a diamond to a trader at a profit of 40% and the trader sells it to a customer at a profit of 25%. If the customer pays Rs 56 lakhs to buy the
diamond, what had it cost the miner (in Rs lakhs)?

ok @ik fohelt Samaml Y 40% & &1 UR Qeh ERT SraT 8 SR TR 38 25% h |1 UR UM<k oht sadT ¢ | afe UTgeh 3 39 8R &l Witent & iy 56 &g wudl ot ofTar fokan & ot @fAes
& T g1 fohat 3u (e vua #) # fer?
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Options:
1) 30
2) 28
3)25

4) 32
Correct Answer: 32
Candidate Answer: 32

QID : 87 - A grocer had 1600 kgs of wheat. He sold a part of it at 20% profit and the rest at 12% profit, so that he made a total profit of 17%. How much wheat (in kg)
did he sell at 20% profit?

Qe STST farshdll 3 UTE 1600 fehaiam 7ig €1 $6ch Geh T &l 387 20% 1 OR ST SR STeh! a7 §U 1T i 12% T TR S9T1 39 TR 3G Gt 17% AT §3TT1 I 20% a1 R
fora g (Reettom &) am?

Options:

1) 600

2) 1000
3) 800

4) 1200
Correct Answer: 1000
Candidate Answer: 1000

QID : 88 - A used two-wheeler dealer sells a scooter for Rs 46,000 and makes some loss. If he had sold it for Rs 58,000 his profit would have been double his loss.
What was the cost price (in Rs) of the scooter?

TR Z-TIeR S kel < Toh Wher 46,000 3t & 31 3R I8 F© Teher gaiT| Af 3T 59 58,000 Fuat & ST gl oY STehT 1 3G Tehel & EN[T ElaT| The I AN el
(Tut &) T om?

Options:

1) 52000

2) 54000

3) 48000

4) 50000

Correct Answer: 50000
Candidate Answer: 50000

QID : 89 -0.08% of 120% of 50,000 is equal to

50,000 T 120% T 0.08% & RER B

Options:

Correct Answer: 48
Candidate Answer: 4800

QID : 90 - When a number is increased by 24, it becomes 115% of itself. What is the number?

STe Rt et ot 24 § T ST & ot 98 W @1 115% 8t oIl & | 98 TeaT 31 82

Options:
1) 160

2) 250
3)100

4) 200
Correct Answer: 160
Candidate Answer: 160

QID : 91 - Two numbers are 40% and 80% lesser than a third number. By how much percent is the second number to be enhanced to make it equal to the first number?

3} Ty foneft e T & 40% 3R 80% o &1 GERT U ol fohawt ufdiara aek Serat S1TY ok Ug ugett Tt 3 SRTeR gt Sg?

Options:
1) 100

2)333
3) 66.6

4) 200
Correct Answer: 200
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Candidate Answer: 200

QID : 92 - Price of diesel increased from Rs 45/litre to Rs 50/litre. How much should the consumption of diesel be reduced (in %) so as to increase expenditure by
only 5%?

BT Y HFd 45 T Ufd fex & g 50 9 Ui #fiex 81 STt 81 Siotet Y @ud ! fohe=1 & (% ) fomam SITq 36 oo haet 5% ek ol 9672

Options:

1)55

2)5

3)4

4) 4.5
Correct Answer: 5.5
Candidate Answer: 5.5

QID : 93 - A plane flies a distance of 1800 km in 5 hours. What is its average speed in meters/second?

Y @i 5 15 & 1800 fheliier Sear 21 Hiew/ddhvs & et 1fd e ghft?
Options:

1) 200

2)10

3) 20

4) 100
Correct Answer: 100
Candidate Answer: 100

QID : 94 - If a boat goes upstream at a speed of 24 km/hr and comes back the same distance at 40 km/hr. What is the average speed (in km/hr) for the total journey.

I i 1a a1 Y e F 24 .+t /gier i afa @ Tt & ok I € gt & 40 foR . /dfer it far & AT St 81 et A Y st i (k.. /der 7) T 82
Options:

Correct Answer: 30
Candidate Answer: 30

QID : 95 - Two bikers A and B start and ride at 75 km/hr and 60 km/hr respectively towards each other. They meet after 20 minutes. How far (in km) were they from
each other when they started?

3} 975 GIR A 3R B Teh qER ot 3R shAST: 75 fon. oY /8ier R 60 foh. . /8er <l nife & e & T & et IR &hed 81 3 20 e a1 Uk ek & ferd &1 519 3619 g U fohar
o1 &8 70 e gt (Foh. . 7) arar of?

Options:

1) 60

2) 45

3)30

4)15

Correct Answer: 45

Candidate Answer: 45

QID : 96 - Excluding stoppages, the speed of a bus is 80 kmph and including stoppages, it is 60 kmph. For how many minutes does the bus stop per hour?

Rt Y sts fear SITq @t &= <t ifa 80 k.. /e iR farmt et fAreTent s &t fer 60 ot /efeT €1 & ufay Her foham! e Fancht &2

Options:

1)12

2) 15

3)18

4) 20

Correct Answer: 15
Candidate Answer: 15

QID : 97 - In 2 years at simple interest the principal increases by 8%. What will be the compound interest earned (in Rs) on Rs 10 lakhs in 2 years at the same rate?

2 9T & IYRYT TS & A 8% ¢ ST g1 10 dRg F9a1 IR I @R & 2 aut o foIg Iehgleg saret (Fudt &) am ghm?
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